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Namn_____________________________ 

1    Beräkna! 

  a) 4	×		7 + 3 = 

 b)   6 − 	2×	5	 = 

 c)                 900 − 1 + 2 = 

2         !ä#$%&'
(ä)(%&'

=  

3   Beräkna!  
     Visa hur du har tänkt. 

               3×		10* 	= 

4    Eleverna skulle avrunda till heltal. Kommentera svaren! 

a) 17,38 » 
  Elevens svar: 17,38 = 17 

b) 268,9 » 
Elevens svar: 268,9 » 270 
 
 
 
 

5 Bestäm produkten av faktorer 8 och 4.   
 
 



 
 
 
 
 

6 Skriv        <  =  eller  >     mellan talen. 
 

a) 193 19,3 
b) 3,9456 203 
c) 51,0 51  

 


